Negotiable Instruments Quiz ANSWERS

A. Matching

1. b

2. i

3. d

4. a

5. f

6. h

7. e

8. c

9. j

10. g

B. Multiple Choice

1. a

2. b

3. d

4. c

5. d

6. b

7. c

8. a

9. d

10. c

Critical Thinking

1. Paula uses a personal identification number (PIN) to authorize her purchases.

2. The advantage of an activity account is that it does not require a minimum balance while an interest earning checking account does. The disadvantage of an activity account is that a fee is charged for each check. A service fee is charged on an interest-earning checking account only if the balance dips below the minimum. Meanwhile, the interest-earning checking account also earns interest.
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